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zfusimlsemitrings :O face =3 Cgi E
for each finite G .

classes a,p,r=l . . no-

② Ra ④Rs = R,
mas
'

→ Xa5 = { ma:X! a. beer . - ha

=Xpa④qK? T -- Mba
'

CLAIM
-

:

=XRs④RaH ) (ma),
'
can sink .

i¥
moi -- si Cei - fi .

•
ma -- Shas
'

canals
'
-
- 944245 's;
mkay
'
- Satta

.



blank.

trick mo -

-
H

. ⇒ S -- mo S

s
.

-
= E. mais.' -Esta!

'

si
-
- s
.

-

a: is
⇒ at = I

so.
-

'

(Ma ) s
'

X. Cx ) = XaK7XsCa)

Mb
'

Vc = X Vb

L labels eraffeveco .

areas of Ma are Xgt = Sbt .{crab nu . we Xat .



blank.
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